Network I

function [lambda_2,R]=XXH_0(a,a0,d,d0,N)

A=zeros(N);

for i=2:N
for j=3:N
A(l,i)=a;
A(j,j-1)=a0;
A(2,N)=a0;
end

end

D=zeros(N);

for ii=1:N
D(ii,ii)=sum(A(ii,:));

end

L=D-A;

% LL=zeros(2*N);

LL=blkdiag(L,L);

kl=zeros(N);

for k=2:N
kl(1,1)=d0;
kl(k,k)=d;

end

LI=[kl,-k1;-k1,k1];

ZL=LL+LIL;

[vl=cig(ZL);

ss=sort(v);

s=ss(abs(imag(ss))<=eps);

% s(s==0)=[]

lambda N=s(end); %5 KAFEAE
lambda_2=s(2);% 5 /N AEZHFEAE

R=lambda N/lambda 2;
double(R);
end

Network II

function[lambda_2,R]=XXH(a,a0,d,d0,N)

A=zeros(N);

for i=2:N
for j=3:N
A(i,1)=a;
A(j,j-1)=a0;
A(2,N)=a0;
end

end

D=zeros(N);

for ii=1:N
D(ii,ii)=sum(A(ii,:));

end

L=D-A;

% LL=sym(zeros(2*N));

LL=blkdiag(L,L); % 4 A

kl=zeros(N);
for k=2:N
kl(1,1)=d0;
kl(k,k)=d;
end
LI=[kl,-k1;-k1,k1];
ZL=LL+LL;
[vI=eig(ZL);
ss=sort(v);
s=ss(abs(imag(ss))<=eps);

%

=z

ik

lambda N=s(end);% iz KAFE(
lambda_2=s(2);% 5 /N AEZHFE(E

R=lambda N/lambda 2;
double(R);
end
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